
Useful	Equations	and	Constants:	
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g	 =	 9.81	ms-2	
L	 =	 6.022	´	1023	mol-1	
R	 =	 8.3145	J	K-1	mol-1	 =	 0.082057	atm	dm3	K-1	mol-1	=	 1.98719	cal	K-1	mol-1	
kB	 =	 1.381	´	10-23	J	K-1	
F	 =	 96485	C	mol-1	 	
e	 =	 1.602	´	10-19	C	
eo	 =	 8.854	´	10-12	C2	N-1	m-2	 																												
me	=	9.109	´	10-31	kg				
1	amu	=	1.661	´	10-27	kg													
a0	=	0.5292	Å	
c	 =	 2.9979	´	108	ms-1	
h	 =	 6.626	´	10-34	Js												ℏ = 1.05457 × 109N"𝐽 ∙ 𝑠				
RO = 1.0968 × 10P1/𝑚	
	
	
	 	
1	atm	=	101325	Pa	=	760	Torr,	 1	bar		=	100000	Pa 
1	m3	=	1000	liter	=	1000	dm3	=	1000000	cm3	
1	M	=	1mol/liter				1m	=	1mol/kg	
1	W	=	1	J	s-1							1	A	=	1000	mA				1	S	=	1/W	=	1	A/V			1	C	=	1	A	s	
1	nm	=	10-9	m,	1	Å	=	10-10	m	
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